
 Rail Kit Installation Instructions 



 Rail Kit Installation Instructions 


Rail Kit Install Guide for
IBM System x3450 Type 7948
IBM Part Number: 44W2508
Safety Guidelines
Review the documentation that comes with your rack cabinet for safety and cabling information. Before you install your server in a rack cabinet, review the following guidelines.
· Make sure that the room air temperature is below 35° C (95° F).

· Do not block any air vents; usually, 15 cm (6 in.) of air space in the rear and 5 cm (2 in.) in the front provides proper airflow.

· Plan the device installation starting at the bottom of the rack cabinet.

· Install the heaviest device in the bottom of the rack cabinet.

· Do not extend more than one device out of the rack cabinet at the same time.

· Remove the rack doors and side panels to provide easier access during installation.

· Connect the server to a properly grounded outlet.

· Do not overload the power outlet when you install multiple devices in the rack cabinet.
· Install the server in a rack that meets the following requirements:

· Minimum depth of 49 mm (1.9 in.) between the front mounting flange and inside of the front door

· Minimum depth of 636 mm (25.0 in.) and maximum depth of 788 mm (31.0 in.) between the front and rear mounting flanges.

· For additional resources for selecting suitable rack cabinets, go to http://www.ibm.com/servers/eserver/xseries/library/configtools/.

Statement 4:

	[image: image1.wmf]

	[image: image2.wmf]
	[image: image3.wmf]
	[image: image4.wmf]

	Use safe practices when lifting:
	≥ 18 kg (39.7lb.)
	≥32 kg (70.5lb.)
	≥ 55 kg (121.2 lb.)


Statement 26: 
	[image: image5.wmf]
	[image: image6.wmf]

	CAUTION:

Do not place any object on top of rack-mounted devices.
	


Contents

11.
Rail Kit Installation Instructions


11.1
Before You Begin


11.1.1
Tools and Supplies Needed


11.1.2
Kit Content List


21.2
Installation Instructions


21.2.1
Remove the Inner Rail from the Rail Assembly


31.2.2
Install Outer Rail Slides to Rack Posts


41.2.3
Attach Inner Rails to Server Chassis Sidewalls


51.2.4
Install the Server Chassis into the Rack




1. Rail Kit Installation Instructions

Use the instructions in this installation guide to install the rail kit onto the IBM System x3450 server.
1.1 Before You Begin

Before installing the rail kit, observe these safety guidelines:

· Turn off all peripheral devices connected to the server.

· Turn off the server by pressing the power button on the front of the chassis. Then unplug the AC power cord(s) from the chassis or wall outlet.

· Label and disconnect all peripheral cables and all telecommunications lines connected to I/O connectors or ports on the back of the chassis.

· Provide electrostatic discharge (ESD) protection by wearing an anti-static wrist strap attached to a chassis ground - any unpainted metal surface - when handling components.

1.1.1 Tools and Supplies Needed

· Phillips* (cross head) screwdriver (#1 bit and #2 bit)

· Anti-static wrist strap and conductive foam pad (recommended)

1.1.2 Kit Content List

Each Rack Mount Kit contains the following:

Attention:  The two rail assemblies that are included in the kit are not interchangeable. Install each rail assembly into the rack based on the orientation (Right or Left) as you stand in front of the rack cabinet. The Right rail assembly is indicated by a blue (RH) sticker and the Left assembly is indicated by a green (LH) sticker.

This kit contains two sets of 8-32x1/2 screws. The head on one set of the screws is larger than the head on the other set. Use the set of screws that best fits the rack cabinet in which you are installing the server.    
· Outer Rail Slide Assembly (2). See letter “A” in Figure 1 in Rail Kit Components.

· Inner Rail Slide (2). See letter “B” in Figure 1 in Rail Kit Components.

· Rail Safety Stop (one each on inner slides). See letter “C” in Figure 1 in Rail Kit Components.

· Outer Slide Rail Screws (8 #8-32 x 1/2). See letter “D” in Figure 1 in Rail Kit Components.

· Inner Slide Rail Screws (8 #6-32 x 1/4). See letter “D” in Figure 1 in Rail Kit Components.

· Rack Screws (2 #8-32 x 3/4). See letter “D” in Figure 1 in Rail Kit Components.

[image: image7.wmf]
· Rail Kit Components

1.2 Installation Instructions

1.2.1 Remove the Inner Rail from the Rail Assembly

· Extend the inner rail until it locks. See letter “A”  in Figure 2 in Removing the Inner Rail from the Rail Assembly.

· Depress the spring safety lock to release the inner rail. See letter “B” in Figure 2 in Removing the Inner Rail from the Rail Assembly.

· Remove the inner rail from the rail assembly. See letter “C” in Figure 2 in Removing the Inner Rail from the Rail Assembly.

[image: image8.wmf]
· Removing the Inner Rail from the Rail Assembly

1.2.2 Install Outer Rail Slides to Rack Posts

· Attach the outer rail slides to the rack posts using two #8-32 x 1/2 screws at the front posts, and two #8-32 x 1/2 screws at the rear posts. See letter “A” in Figure 3 in Installing the Outer Rail Slides to the Rack Posts .

2.   Tighten the screws enough to make them snug but do not tighten them completely.  The rails should be able to have some movement.   

· The rail flanges mount to the inside of each post.

[image: image9.wmf]
· Installing the Outer Rail Slides to the Rack Posts

1.2.3 Attach Inner Rails to Server Chassis Sidewalls

· Insert the inner rails over the server chassis sidewall studs. See letter “A” in Figure 4 in Attaching the Inner Rails to the Server Chassis Sidewalls.

· Slide the inner rails toward the front of the server chassis. See letter “B” in Figure 4 in Attaching the Inner Rails to the Server Chassis Sidewalls.

· Secure the inner rails with one #6-32 x 1/4 screw for each rail. See letter “C” in Figure 4 in Attaching the Inner Rails to the Server Chassis Sidewalls.

[image: image10.wmf]
· Attaching the Inner Rails to the Server Chassis Sidewalls

1.2.4 Install the Server Chassis into the Rack

· Align the inner rails (attached to the server chassis) with the outer rail assemblies (attached to the rack). See letter “A” in Figure 5 in Installing the Server Chassis into the Rack .

· The inner slides must be positioned all the way forward in the rails to ensure proper installation of the server.

· Engage the matching rails and slide the server chassis into the rack (see letter “B” in Figure 5 in Installing the Server Chassis into the Rack) until the two safety stops lock into position (see letter “C” in Figure 5 in Installing the Server Chassis into the Rack ).
3.   Slide the server in and out of the rack a few times to make sure that the rails are connected; then, fully tighten the screws.

[image: image11.wmf]
· Installing the Server Chassis into the Rack

4.    Depress the two safety locks (one on each side). See letter “A” in Figure 6 in Installing the Server Chassis into the Rack.

5.    Slide the server chassis all the way into the rack. See letter “B” in Figure 6 in Installing the Server Chassis into the Rack.

6.    Use the rack screws (#8-32 x 3/4) to secure the chassis and rack handles into the rack. See letter “C” in Figure 6 in Installing the Server Chassis into the Rack .

[image: image12.wmf]
· Installing the Server Chassis into the Rack
Rail Kit Install Guide for IBM System x3450
i 

6 
Rail Kit Install Guide for IBM System x3450

Rail Kit Install Guide for IBM System x3450
7 


